Homework #3
Pp. 48 – 50
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4. b)
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6.    

12. c) [p ^ (p -> q)] -> q ≡ 

~(p ^ (~ p V q))V q <-> ~p V(p ^~q)V q  <-> (~p V p) ^ (~p V ~q)Vq

<-> ~pV p V q <-> T

     d) [(p V q) ^ (p -> r) ^ (q -> r)] -> r ≡ 


~(p V q) ^(p->r)^(q->r)) ->r

~(pVq)V(p^~r)V(q^~r)Ur

~(pVq)V((p^~r)Vr)V((q^~r)Vr)

(~p^~q)V(pVr)V(qVr)

(~pVpVrVqVr)^(~qVqVrVpVr)

TVT

T

35. a)
p V ~q V ~r

      c) (p ^ T) V (q ^ F)
P. 72

4. a) Simplification

    b) Disjunctive syllogism

    c) Modus ponens

    d) Addition

    e) Hypothetical syllogism

6. 
 ~r V ~f -> S ^ D


~S->~(S ^ D)

S-> A




->(~RV~F)

~A




->R ^ F -> R

---------

R

